72. Consider the below characteristic curves of an npn bipolar transistor. Calculate hy. = . Assume the
npn transistor is part of a commen emitter amplifier with a supply voltage of 12 V. Directly on t
below plot, draw in the load line for a 2 k) collector resistor, and mark a nice operating point Q. At
(), what is the change in the collector voltage AVeg for a change in the base current Alz = .01 mA?
Calculate h,. using your operating point’s base current. What change in the base voltage AVgp will
accompary the change in the base current Alz = .01 mA? Calculate the ac voltage gain: AVeg/AVeEr.

- operating point, how much power is dissipated in the transistor?
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